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O Givemealist of five sample sentencesin KWIC (Keyword in Context) format, with the keyword
"however".

Life in the countryside is peaceful. However, it can get lonely at times.

Public transportation is usually convenient. However, it can be affected by delays.

She planned to arrive at the party on time. However, she got caught in a traffic jam.

The overall progress of the project is going well. However, we still need to address some
budgetary concerns.

It"s important to be punctual. However, sometimes unexpected circumstances can cause delays.
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O Write a 500-word argumentative essay consisting of three body paragraphs about education.
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O Explain the differences between "adapt" and "adopt”.
m 00000000

O Identify Academic Word list level for the following sentence:  It'simportant to be punctual .
However, sometimes unexpected circumstances can cause delays.
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The Academic Word List (AWL) is a list of words that are commonly found in academic texts and are
considered important for academic English proficiency. It consists of 570 word families that cover arange
of disciplines and academic contexts.

Analyzing the sentence "It's important to be punctual. However, sometimes unexpected circumstances can
cause delays," we can identify the following words from the AWL.:

important (AWL level: Sublist 1)
punctual (AWL level: Sublist 1)
sometimes (AWL level: Sublist 2)
unexpected (AWL level: Sublist 2)
circumstances (AWL level: Sublist 4)
delays (AWL level: Sublist 4)

Based on this analysis, the sentence contains several words from Sublist 1 and Sublist 2 of the AWL,
which are considered essential for academic reading and writing. Therefore, the sentence can be
considered to be at an intermediate to upper-intermediate level of the Academic Word List.
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O Analyze the syntactic structure of the following sentence: The pot on the table doesn't have alid.
The syntactic structure of the sentence "The pot on the table doesn't have alid" can be analyzed as follows:
Sentence: The entire sentence is a declarative statement.

Subject: The subject of the sentence is "The pot on the table.” It consists of the determiner
"The" and the noun phrase "pot on the table." The noun phrase "pot on the table" functions as a noun
phrase modifier, specifying which pot is being referred to.

Verb phrase: The verb phrase is "doesn"t have." It is composed of the auxiliary verb "doesn"t" (a
contraction of "does not") and the main verb "have." The verb phrase expresses the negation of
possession.

Direct object: The direct object of the verb phrase is "a lid." It is a noun phrase that
indicates what the pot is lacking.

Determiner: The determiner "a" introduces the noun "lid" and indicates that it is an indefinite
noun.

To summarize the structure: [Subject] [Verb phrase] [Direct object]

Subject: The pot on the table
Verb phrase: doesn®t have
Direct object: a lid
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O Draw the syntactic tree diagram of the following sentence: The pot on the table doesn't have alid.

Sentence
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| I |
The Verb Direct object



In the tree diagram:

The top level represents the entire sentence.

The subject "The pot on the table"™ is connected to the verb phrase "doesn"t have" through a
horizontal line.

The subject consists of the determiner "The" and the noun phrase "pot on the table."

The verb phrase consists of the auxiliary verb "doesn"t" and the main verb "have."

The direct object "a lid" is connected to the verb "have" through another horizontal line.

The direct object consists of the determiner "a" and the noun "lid."

This tree diagram visually represents the hierarchical structure of the sentence, showing how the different
components relate to each other.
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